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Inverse Functions
One to one function

 if  each HL pass through at most one 
point on graph.

Horizontal Line Test
One-to-one:

(HLT):

Determine if  each the following function is one to one 

!
: A one - to -

one function is a function

where each input Cx
- value ) has a unique

output ( y - value )

Example :

B

is one
-

to
- one

is not one - to
-

one
*

-

••oB

FLN =  - 3-4×+2 fed = - 44+4 f Gl = let
-

one
-

to one not one - to - one not one - to - on



Finding the inverse of  a function

A) Inverse of  order pairs function

B) Inverse of  the equation function

"

If f is a one - to - one ⇒ f-
I

= { Cy , x ) : ( x , y ) is in f }

If f is not one - to - one ⇒ f-
I does not exist .

Example : for each of the following function find ft
.

f-  = { ( - 3,9 ) , Loco ) , C 3,9 ) }

f- is not one - to
- one

,
f

- I does not exist .

f-  = { Clg 2)
,

C 2,4 ) g C 3,9 ) }
f- is one - to - one

g
f

- I
= { C 2,1 ) ,

C 412 )
,

@ 137 }

Domain f
- I

= { 2
,

4 ,
a } = Range f

.

Range f - I
= { I

g 2 , 4 } = Domain f
.

f- cx7= 2x - 5
•

Method 18
y = 2x - S

÷

X = 2g - S

•• 4+5=29•
D= 2-51

2

•

f
- I

Cx ) = NII
2

r



١- نحول كل عملیة ضرب لقسمة وكل 
عملیة جمع لطرح والعكس. 

٢- نعكس الترتیب 

• Method 28 f G) ± 34+2

→ f-
I

Cx )

Remark g Domain of f-
I

= Range off .

Range off
- '

= Domain of f .

Examples 8 find f-
I

for fcx ) = TET

Method 18 Method 28

Y= FEI
y £+1 → f-

'
HI

-
I a

X -

- tf e- I
U

ox - I 2

X2= y - I se

square root n square
✓

y 2+1=9 TEI x

. : f
' 'CX7= HIS

.

. .
f-

'
ex ) = UH

•
Domain f-

'
= Rang f :

z [ og A )



Deciding If  Two Functions are Inverses#

Remark 8 . If f
- I exists then

f ( f
- t

a ) ) = sa and f- I
( f Cx ) ) = so

• If f ( gem ) = sa and 9 ( fun ) = x then

f and g are inverses to each other .

Examples 8 Are two function inverses

f G) = Box - 7 9 Cx ) = ⇒
3

• f ( 9cm ) =

$(III ) - 7

= Xt 7 - 7  = X

• 9 ( fun ) = 3×-7/+71-

3

= 331 = X

. : f and g are inverses .


